TS 2 AAE Sl 9 o, Yo

240 58 o7

D)6 714 @ 7714
@ 9 717 ® 10 7kA]

® 8 7H4]

T =9 0] gto] 10 & o
(4,6), (5,5), (6,4)

T 4o Fol 11 ¢

(5,6), (6,5)

T ool 124 ¢ (6,
S 34+2+1=6(7HA)

6)




2. 13 12747 A9 AAlo| A #4912 WA ), 3] ¥4 EE 5 9]
W57} e A9 0] 48 FohE?

© 27K @ 3744 ® 574
@®)6 712 ® 8714

39 v = 4714], 5 9] 9] = 271HA]
webA] B 6 71A].




bl

i
&

7}A]

16 714

P

ul
RO

i

>

L R H

A,B,C,D Zt &350l o, F=t

2=

o A% 27 Q0 ]

2x2x2x2=16 (7H)




FANE F W ARE 1, R A
AR 65] o1t e e 400

@ 4714
()127}H7]

@ 374
@ 9714

29] w529 feo] Lho W
@ 7714

29 |51 2,4, 6 ©& 37}4]
6°] oF:

3x4 =12(7H)

1,2, 3,628 47}7o|B &




A1, 2, 3, 202 47 A B AN A QOlR & B Be
u, 39] WS E 8 9] BT ko A90] S

@® 57H4] @ 6714 ® 77H4]
@®)87HA ® 9717

39 Hi4E= 3, 6, 9, 12, 15, 182 67}7|0]1L 8 2] HiS= 8, 16
2 27MA] ot} mEbA 39wl E= 8 9] viTt o= 799
FE 642 = 8(7FA]) oI .




6.

= oA EZ7HA
7H= ol x, y, 2] 37HAlle. o] ] Ageld £82 AH XA
M e BE R 91

Maol A -7 7 2ol a, b, ¢, d2] 47HA], &4

@ 1714 @ 3714 @ 4714
@ 77HA] ®)127}A]

Fe w47
Fe g : 37k

AgoA EHez 7
Zx%oﬂk] ;‘&O]'Oi 7
L 4x3= 12(7]';(])




7.

1,2, 3, 49 527} 271 4 o] o] 7t S o] gstel o
3 Ape] o] B4 B 9 74917}

n
rr

Eae]
3L

@ 4 714 @ 6 7H4 @ 8 714
@ 16 714 (3)24 7tA]

4x3x2=24 (7HA])




0 e e, A 09 5700 AL T ]
Qtk. AS 1719} RS 17/ #A]o] nhE 5 91% —gx}% P
79174

@ 15714 @ 2074 3)25 714

@ 3074 ® 407174




50| & Fotofet
> ® i)
> ®e 6 /A

7S Ao A AAEE 7
3x2x1=6(7tA)

S T ER AL A9 48 Fohw Drt.




10, 0.1,2,3,4 ] S} 2428 31 5 2191 1= Fol 3 38 Bol
% e Al AEle) Be) A58 Fatola,

= M

>
> ™ 48 7

Agoll=00] = 4 gleag
4x4x3_48(m)




11.

o)
[\
o

® 4714

2+3=5 (7IA)




A]

@ 96714 ® 1107t

@)21071

@ 48714

@ 1207}A]

)

™
Y
=0
Tor
5
o
iy
of
T
nH

T -

® X

™ D

M F

4 Il

0| «

'BO X

Tod =

- X

i 117 &

'BO mm X

(4]

N T %

<t

X

L




13.




